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1D pull distribution

0.02724 + 0.1392

Mean

1.023 +0.09844

Std Dev

Underflow

Overflow

4.053/6

X2 / ndf

10.01+2.09

Constant

0.08232 + 0.17564

Mean

1.102 +0.209

Sigma

56.56 / 53

—353

X2 / ndf

p

0III|II

158.4
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lagr_asym_us_avg RMS (ppm)
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lagr_asym_usr (ppb)

X2 / ndf
p0

52.72 153
—401.4 + 224.1

1D pull distribution

_ Mean -0.01017 +0.1345
I Std Dev 0.988 + 0.09507
10 Underflow 0
Overflow 0
o X2/ ndf 2.286/6
8 —
| Constant 10.41+1.86
B ] Mean  -0.02429 +0.16758
6 Sigma 1.092 +0.148
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lagr_asym_usr RMS (ppm)

o'vree
geree
ceree
Tevee
oevee
0'8cee
0°Lcee
c'veee
T'veee
0'veee
0ecee
6'¢ceee
8ceee
L'eeee
9ceee
G'ceee
veeee
g€'eeee
ceeee
T'eeee
0'ceee
6'Tcee
8'Teee
1'Teee
9'Teee
§'Teee
v'Teee
€1eee
¢'Teee
T'Teee
0'Teee
90cee
§'0cee
v'ocee
€'0cee
cocee
T'ocee
0ocee
S'61EE
V'61€E
€'61ce
C'6TEE
T6eTEE
0'6TEE
o'viee
TTTEE
0'TIEE
Totee
0otee
£'80€€
2'80€e
T'80ge
0'80€e
0'soee



) o =] =] ~ © =3 ©
g 888
o I + =) o
N S e 4w ]
© N 5 [Ted < 7
o o, o -
- & 3 _ = ]
[ T K] 5 o} © —]
m a [} = c m M £
c 53 h=] 2 e 5 33 k=3 7
o = 4] =) o < () = n -
= =
=}
£ ! — 3
=] I .
7] [
5 _ ]
2 )
o =
i .
1 I L L L L | PR B SRR B SR
< [N © < o~ =)
— —
™M O
e
~
N~ KN =
. —_— —
©© ]
(o] — o —— —
N ——— —
AN —— —
—e—— —
I — — -
—— —
Y— — -
ko] ——— —
c ——— —
———— -
/0 |, m
N ————— —
< Q ] — e
——— -
e} — —
Q. ——— —
o —
N —
» - e—
> —
m_ ———— -
> ]
7]
© e -
r_ —
g —
a —
- — e —— —
____ __I_IT%I.IT._ _____T
o o o o o o
S S S S S S
S o S <] o S
& s ¥ R




lagr_asym_usl RMS (ppm)
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X2 / ndf
p0

65.68 / 53
125.2 + 147.2

1D pull distribution

- Mean 0.01589 + 0.1501
I Std Dev  1.103 % 0.1061
10 Underflow
Overflow

L X2/ ndf 4.643/6
sk

| Constant 9.688 + 1.976

B Mean 0.1591+ 0.2356
= Sigma 1.136 + 0.222
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lagr_asym_us_dd RMS (ppm)
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